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Show your work! Please draw a around your answers!
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2. (5+5=10 pts) This problem has three unrelated parts about derivative of functions.
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3.(6 x 6=26 pts) Compute the following integrals.
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4.(5x3=15 pts) Let R be the region between y = sinx and y = sin 2z when 0 < z < 7.

(a) Calculate the arca of the region R.
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(b) Write the integral(s) which gives the volume of the solid obtained by revolving the region
R about the line y= —L
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(c) Write the integral(s) which the volume of the solid obtained by revolving the region R
about the line x = 0.
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5.(10 pts) A 2m tall man wants to watch the results of the President election from a big screen

on a public open space. A 10 m tall scrcen is located on a wall 10 m above the ground. How

far would he stay from the wall to get the best view?
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6. (3+2+2+4+4+4=19 pts) Let f(x) = (x+ 1)e”*. By following these steps sketch the graph
of f(x).
(a) Find the domain, x-intercepts and y-intercept of f(z). _5
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(b) Find ALL of the asymptotes of f(z).
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(c) Check the symmetry and periodicity.
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(d) Find the intervals of increase/decrcase and local max/min points of f(z).
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